Supplementary table 4 – rating of text fragments by assessors

	Text fragments 
	Rating by assessors

	Explanation – part 1 fellow 4 case 1
This medical condition implies that: your baby is genitically a girl with a karyotype of 46 XX but with a genetic disorder in a protein that drives to a virilisation intrauterus by male hormones increase.  

	Poor (6)
Insufficient (5)
Reasonable (6)
Good (0)
Excellent (0)

	Explanation – part 3 fellow 5 case 1
I would make a drawing of the adrenals and explain what the adrenals do.
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“ the adrenals is a small triangular organ, located above the kidneys. There are a small organ, but responsible for three hormones. The mineralocorticoids (which is responsible for are salts in our blood), the glucocorticoids (cortisol, which we need for waking up and stress situations) and the androgens (which are the masculine hormones). All these tree hormones are made from cholesterol which comes from the blood into the adrenals and is than covered in the 3 hormones. The conversion to these three hormones is done by many different steps (I will draw many arrows so that they can visualize it). 

What we know now is that in your girl, one of the steps is blocked. This is because of the enzyme is not formed yet and the step is blocked. The step of forming cortisol is blocked, so like you see (I draw it on the picture), the hormone before is accumulated, which we call 17-OH progesterone. And this is what we see in the blood of your daughter that 17-OH progesterone is high. Cortisol level is lower and because our body wants to make sure that there is enough cortisol in the blood, the body will stimulate the adrenals more and more for producing more cortisol. But because there is a block, it does not work, but instead of that the masculine hormones are produced more and that make that the clitoris will grow. 
	Poor (0)
Insufficient (0)
Reasonable (1)
Good (10)
Excellent (6)



	Follow up – fellow 3 case 1
We have to start treatment today with these two drugs. During the first weeks you come to our hospital quite often to check the medication. Later you will see us everything 3 month. 

	Poor (6)
Insufficient (0)
Reasonable (7)
Good (1)
Excellent (3)



Table 1. Text fragments for case 1 (CAH) with examples of text passages which are respectively rated by assessors as poor/insufficient for the first row; as good/excellent for the second row and for the third row with great variation in the ratings given by the assessors. 



	Passages 
	Rating by assessors

	Follow up – fellow 1 case 1
The girl most likely will have a female gender identity at adulthood, and therefore we do not doubt about assigning the female sex. The girl will need at least one (probably more) operations to make the external genitalia also look female.  

	Poor (11)
Insufficient (2)
Reasonable (3)
Good (1)

	Explanation - part 2 fellow 9 case 2
The dysfunctional testis are of no use to Ranya and need to be removed as they will be a high risk for cancer to the tune 12-25 %

	Poor (0)
Reasonable (4)
Good (10)
Excellent (3)

	Explanation – part 1; fellow 1 case 2 
I tell her that we found the reason why she is not getting into puberty. That she doesn’t make ‘female hormones’. I ask her permission to further explain this to her.
	Poor (5)
Insufficient (0)
Reasonable (6)
Good (2)
Excellent (4)



Table 2. Text fragments for case 2 (Gonadal Dysgenesis) with examples of text passages which are respectively rated by assessors as poor/insufficient for the first row; as good/excellent for the second row and for the third row with great variation in the ratings given by the assessors. 

